No. of Printed Pages : 8 MEC-001

MASTER OF ARTS (ECONOMICS)
Term-End Examination
June, 2016

08336

MEC-001 : MICROECONOMIC ANALYSIS

Time : 3 hours Maximum Marks : 100

Note : Attempt questions from each section as per instructions
given under each section.

SECTION - A

Answer any two questions from this section. 2x20=40
1. Consider a pure exchange economy with two

commodies (x, y) and total resources

(e, ey)=(5, 10). Consumers A and B have

identical preferences represented by the following

utility function : ' .

u;(x;, ;)= (x; y;) for i={A, B}. Suppose initial

endowments are (ef‘,ef) =(2, 1) for A and

(€8, e8) =(3,9) for B.

(a) Draw an Edgeworth box and indicate the
endowment point. Define the set of Pareto
efficient allocations and draw them in the
diagram.

(b) Compute the competitive equilibrium
(Walrasian) and show the allocation. State
if the equilibrium is efficient.
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In what type of market structure the
Stackelberg model becomes operational ?
Justify your answer.

Find the Stackelberg model equilibrium if
market demand is

Q=3200-1600p where

Q=Q; +Q, and the cost functions of two
firms 1 (the leader) and 2 (the follower) are :
TC,(Q,)=0.25 Q; and

TC,(Q,)=0.5 Q,.

3.  The insurance market has two types of agents A
and B and both have initial wealth w=1, same
preference represented by utility function

u(x) = \/x , where x is money. Agents A-type have

a probability of loss of 0.5 whereas the probability
of loss for type B agents is 0.2. If the insurance
companies can distinguish the types of agents but
the agents do not know their types,

(a)
(b)
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Compute the competitive equilibrium in this
market ;

Compute the market equilibrium when the
government regulates it and directs the
companies to offer full insurance;

Discuss the efficiency in each situation,
without and with regulation.

State and explain two Pigovian conditions
in welfare analysis.

Using Pigovian framework, discuss the
causes of divergence between private and
social costs and return.

Relate the problems of Pigovian social
welfare to production of public goods and
suggest measures of solution.



SECTION - B

Answer any five questions from this section. 5x12=60

5. Determine the equilibrium output (Q), price (P)
and profit () of a multi-plant monopoly firm with
Total cost function TC(fi) = 200 + 2(fi)? and market
demand faced is P=140—-Q. where Q= market
demand.

6. Suppose a honey farm is located next to an apple
orchard. Let the amount of apples produced be
measured by A and the amount of honey by H.
The cost functions of the two firms are given by :

AZ

2
Cy= 100 and CA=[-1—06 - H} Both the
products are produced under competitive market
conditions in which prices charged are Pyy=% 2
and P, =¥ 3. Compute the equilibrium quantities
of honey and apples and profit earned by the
firms.

7. lIdentical consumers of a town consumes two
goods comprising a private good x; and a public
good F. Utility of each consumer i is given by :
wi(x;, F)=x; +JF . If w; denotes the fixed income
of consumer i,

(@) What is the total amount of F supplied by a
single producer ?
(b) What is the socially optimal amount of F ?

() Suppose number of people in the town
increases. Explain if the socially optimal
quantity of F would increase or decrease.
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8.  Given the following extensive form game :

* (@)
(b)

(©)

(b)

Find the subgame perfect Nash equilibrium
Write its normal form and solve for Nash
equilibrium

Compare the solutions of the game obtained
in (a) and (b) above and state which of these
offers a better solution.

What 1s an actuarially fair game ?
Consider a bet : if the next card drawn from
the deck is not heart, you get ¥ 0.40 ; if that
event does not occur you lose ¥ 1. If the
gamble is fair, you plan to j join it. Examine
if it will be a fair bet. If not, what would
constitute a fair bait for this gamble.

10.  Given the utility function : u(X, Y) =5XY2, P.=2
and P =8 with given income, I =240, derlve the

()
(b)
(©)

Demand functions for X and Y.
Indirect utility function.
Expenditure function.

11.  Write short notes any two on the following :

()
(b)
(©)
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Hotelling’s Lemma
Separating equilibrium
Translog cost function
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TR, (9T )
i wltam
_ A, 2016
T3 -001 : Yeu (FAfE) anfifem faymur
97 : 3 U Hferrad 3% : 100

T T F IR TAF YT F IR DT

Wi - &
39 WM | e &Y wvEl & s difv 2x20=40
1. ﬁmﬁﬁmaﬁaawwﬁwﬁmaﬁa‘ra@
(%, y) 3R TA T (e, e,)=(5 10) ¥1 Susirm
Aaﬂ?Bﬁmqm@ﬁﬁ%aﬂtﬁmﬁﬁamﬁﬁm
T gRI WE T ¥
i={A, B}%fﬂ‘q i ) =@,y " Sfae fF

A % foe wifvs fafirf (e, ) =(2,1) ok B %

ferg (8, e8) =(3,9) #1

(a) TSI~y T oiR Fif (wIe) fag @
Y | W Hew Fraa+-aq=a &t uRefia
FIfSY &R YEfas & 7 s sifa |

(b) ¥t Hqe (Walrasian) aRefera #ifsm ik
ﬁqﬁ?(allocation)aﬁﬂﬁgm me
e ¥
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fog fFe &1 INR FITAT ® RFAAT
(stackelberg) TS S TN FET WWE & Sl
%7 W W ! gfE e

e Hise Tgad 1 g ey Afg SR
i 81 Q=3200~1600p &l Q=Q; +Q, ¥R
A el 1 (FfE wiex) R 2 (AT T T
wad € TC(Q)=025 Q &N
TCy(Q,) =0.5 Q,.

=T SI9R | 8 YER F T A AR B € 3R i =i

yrifirs T w=1 T SUERE BT ux) = Jx
R U 9EE guE Sret ® W%l x, ¥u €
Wi A-2RY & affa-wigsar 0.5 § F&fh IRY B
A F few sfe-wia 0.2 #1 @ s st
TSI F YHR % TR H T HT el § Tk Toiel
F AT fFm UM A @ @,

(a)
(b)
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TR B wfadit Hgem giewfaa S

TR G IEhferd ShifSrg STe HThR GRI SHH
fafraa €1 3R Safal = ol s 2 = e
=i

fafrenra tfea ok fafremm afeq st <Al
Tearfaal o Gemar H1 ==t HifoQ |

Fegm (Farm) favawn | @ dhyfaeE
TR I S HITTT TS AHT oI HI |
dhfeae BT w1 yE W ge el v wmtew
T 3R wfrwe & ot foeem & wRon
== Hife |

Hrfaaa wmifSred weam ®1 SRes w1
e Segeil 3 3aTed | Sfen &R wHie-
U 1 e ST |
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"'

39 9 9 feRsdl uter weil % s Sifo - 5x12=60
5. fodt sgEEs YR wH & Hgem AR (Q), '
T (P) 3R T () 1 e wif st Fe

AT Fer TC(fi) = 200 + 2(f)? 3R SR |1 (faced)
P=140-Q ¥, &l Q="K =7 ¥/

6. UM TAMNT FIE 88 FH, 9 & I0H & e feoq
?1 W e f sanfen Qi = wen A ¥ ek
TEE I H | A/ AT | D FH % T G €

H? A2 .
Cy=—= ¥R CA:[TE)E - H} S 3] Wi
ISR Srareenati & et senfea frg ot & el aget
T § Py=%2 3R P, =¥ 31 W& ok qaf #
e gfmme ok et g s gAreE aftefera
HifeT |

7. Tt YRS % THFAEA (identical) Susie S ARgeii-
froft og x, ¥R W= o F &1 399m 3 ¥
Y% IUHIERT Y ST | TH TR E
pi(x;, F)=x; +/F afg w;, UMY § T T ST
! A R A,

(a) TS ST 50 YR F &1 FA A A R 2

(b) F ! WIS 3a9 60 501 § 2

(c) M hfST fo e & 98 & &1 wE 9g W
% A fF 991 F &1 g seaq aiEen
TR AT T ?
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10.

11.

™ & Frfafas faemfia §9 F uR W

(@) W (AT A WIST H I T

(b) 9% WM &9 & fafey R A Hgem &
faw & i)

(c) S9GH (a) 3R (b) ¥ ™ | YW FEE HY
e HIVT R TaEy fF H @ 9 TEw
Y H TS F R

(a) =wifwe 3T (fair) 79 F & ?

(b) TE o W faar Fifvw: aft w9 e
3TN I O 1 T B Al 379 ¥ 0.40 W HA;
afs e & @ @ oy T 1 ERA AfE e
3fa & @ o9 TR | Wi wfe R e e
3fea ¥ aft = @ 39 9 & fow sfaa v =
Bt ?

I FEH ¥ : u(X, Y)=5XY? P,=2 3P, =8

IRl A § - 1= 240, Scqs I |

(a) X 3R Y % forg #hm wer

(b) 3THEY ITHMTA FEH

(c) =99 FeH

e A ferdl f W e fafew -

(a) wfeen =1 w9y : w9

(b) JUFFT (Separating) YT

(c) TFEAM (translog) TG FeH

by
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